Pre-requisite Skills for 8" Grade Algebra |

Directions: Use this packet as a guide to be sure you know how to do each type of
problem. Every problem does not have to be completed. Answer pages are given
after each section so that you can check your work. Turn this packet in along with
your scratch work on the first day of eighth grade. Note that there are 7" Grade IXL
categories for each concept, and you are welcome to do these for extra practice. In
addition to the packet, it is recommended that you spend approximately 10 hours of
time working in Khan Academy. You can do the 7" Grade Course Challenge or work
on some skills in the Get Ready for Algebra | course. Keep a log of the time you spend
on it. | will see your progress through my account.

Integers and Algebraic Expressions (IXL categories B, C)

« Simplify expressions using the order of operations.
e Add, subtract, multiply, and divide integers.
o Simplify powers and the order of operations.

Equations and Inequalities (IXL categories R, S, T)

e Solve 1-step equations.
e Solve 2-step equations.
e Solve and graph 1-step inequalities.

Graphing (IXL category P)

o Graph ordered pairs on a coordinate plane.

Rational Numbers (IXL categories E, F, G, H)

¢ Add and subtract rational numbers.

» Multiply and divide rational numbers.

¢ Solve equations involving rational numbers.
¢ Add, subtract, multiply, and divide decimals.

Ratios, Rates, and Percents (IXL categories J, K, L, U)

Find unit rates.

Write ratios in simplest form.

Fluently convert between fractions, decimals, and percents.
Solve problems involving the percent of a number.
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Reteachi ng -1 Algebraic Expressions and the Order of Operations
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A variable represents a number. An algebraic expression is formed
from numbers, variables, and operations.

To evaluate an algebraic expression, substitute a number for each
variable. Then follow the order of operations.

Evaluate - ‘Evaluate
4n+2forn=3. | n+12+ (B Xm)forn=4andm=2.
(D Substitute for each 43 +2) ; 4412 + (3 X 2)
~ variable.
(@ Work inside grouping | =4(5) =4+2+6
symbols.
(3 Multiply and divide =20 : =442
from left to right.
Add and subtract | _ =6
from left to right.

1

Evaluate each expression for g = 4,k = 2, and £ = 9,

1. 4 o 2. 3k . 3. g+4

4 5t+7 | 5. 4(g — 1) 6. 15k+6

7. 3t—g o & g+ k & 8. 27+ i Xk
10.‘.g+12—“~3><k M. 32+gxk 2. 2t+2)+g
3. Q0 g) Xk 16, 4g +1—k 15. 3G3g —#)
16. 2g +2 X 3 17. kt —3 s 10+ 4k +8

19. The formula for the perimeter of a rectangle is P = 21 + 2w. If
I'=2in.and w = 4 in., what operation(s) would you do first?
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R@t@&@hiﬁg i-4 “ Adding and Subtracting Integers
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A number line can help you add integers. For positive integers, move
to the right. For negative integers, move to the left.

Example Add 5 + (—3): /y%\\

First, move 5 spaces to the right. * o
. Then move 3 spaces to the left.

&

3-2-1 0 1 2 3 4 5

5+(=3)=2
e To add integers with the same sign, add e To subtract an integer, add its opposite.
absolute values and use the same sign. 3 (~2) =342 The opposite of —2 is 2.
3+5=8 -2+ —4=-6 . =5 '
e To add integers with different signs, 3—4=3+(—4) The opposite of 4is —4.
subtract absolute values and use the = -1’

sign of the integer with the greater

i (—5) = —4 4 . _siss,
absolute value, 4-(=5) 4+35  The opposite of —5 is 5

=1
-7+3=27?
|-7| - 3] =7-3=4
Use the sign of —7.
So, =7 +3 = —4.
Simplify each expression.
1. 8+(—4)=__ 2. 8+4=___ 3, -8+ 4=
4, 3+(-3)=____ 5. 6+ (—2y=__ 6. 11+ (-16) =
7. 7T+11=_ 8. —4+16=__ 9, 8+ (—12) =
0. -9+(-10)=__ =~ 1. 23+(C-3)=___ 12. —~5+2=
13, 9~ (=)= 4, 18— 14=__ 15, ~6-7=_______
%6, 3—(-3)=___ 1. -4-16=______ _ . 18, 8 — (-9 =
9. ~3-12=____ 2. 6—-(-2)=_______ 21 10— (~16)=
2, 9-(-10)=___ 2 2-(-3N=_______ 2, —5—2=
25, 12-32=___ 26, 42—~ (-15)=__ 27 —-16—23=
28. You owe your teacher $26 for the class trip. 29. A golf ball is 6 inches under water. While
You give her a payment of $11. How much trying to retrieve it, the golfer accidentally
do you still owe? kicks it so that it descends another 9 inches.
‘ How far under the surface of the water is the
golf ball?
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Course 3 Chapter 1 Lesson 1-4 Reteaching




Name : ] Class Date

Retea @hng 1-5 ' ~ Multiplying and Dividing Integers
e If two integers have the same sign, the prod- | e If two integers have the same sign,
uct is positive. the quotient is positive.
87 =156 (-8) (-T)=56 - 8+2=4 (-8) + (~2)=4
- @ If two integers have opposite signs, ¢ If two integers have opposite signs,
the product is negative. . the quotient is negative.
(—8)-7=-56 &-(-7)=-56 (—8)+2=—-4 8+ (-2)=—4

Determine the sign of the product. -

. ~9.3=[ |7 2. 80-(-2) = |60 3. -23-(—20)= [_J460
4 7-(-5=[_I35 5 —6-(-8)=[_J48 6 64-5=[ 30
Determine the sign of the quotient. '

7. 24+ (-3)=[_J8 .. —@)+(-2)=[le o -25+5=[Js

0. 27+(-9=[_3 = 11.160+4=] J40 12. 0+ (-30)= [ P
Simplify each expression. | ' \ | '

13. 12+ (—3) | 14. —9-(-9) 15, 9-(—1)

16. (—8) - (~4) SRR 18. (~8)- (~3)

- ~10-(-5) 2. -9-8 | 21. 4.7

22, 14 (-3) B 160 (-3) | 24, 5-(-25)

2. A | 26, =22 27. %

28. —2'—:* (—2) 29. 6+ (—1) 30. 40+ 2

31, 48 + (—12) | 32. ~99 + (=9) 33, -21 +3

34, -33+3 35. 100 + (—5) - 36. 75 + (~3)

QQGDBGODBQBUOBDBGGDGOOOODBOB.QOGOBBDGGODOGOOQGQDEGQDGBOQQBGODHOBB‘GOGOE.ODBBOB@
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%@’&@a@hﬁ@@ 1=7 : Powers and Exponents
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Follow the order of operations when evaluating expressions with exponents.

Example 1 Evaluate —(3 + 1Y + 5.3

(1) Work inside grouping symbols first. ~(3+12+5-3=—-(4P+5-3
(2) Work with exponents. | = —16 + 5(9)
" & Toevaluatea power, write the factors and multiply.
. 5*=5-5-5-5 (=2 =(—-2)- (~2) - (—2) - (—2) = (2:2-2+2)
= 625 =16 = —16
e To multiply numbers or variables with the same base, add the exponents.
Simplify. 32 - 3¢ Simplify. #’ - n* ‘ Simplify. —4° - —4°
32. 34 = 3(+) 13 nt = n3 43 . 45 = 4049)
= 36 =n’ = 48
@ Multiply and divide from left to right. = —16 + 45
(@ Add and subtract from left to right. =29

To evaluate a variable expression with exponents, substitute a number
for the variable and then evaluate as above.

Example 2 Evaluate —24° for a = 3.
—2a3 = (—2)(3)°
= (-2)27)
- _54

Write using exponents.

2 S 2. (=6) (=6) - (=6) - (~6) - (=6) =

3. 10-10-10-10 = 4,1-1-1-1-1-1=
5. (—8) (—8) (~8) - (—8) - (—8) = 6.2:-2:2:2-2-2-2=

Simplify each expression.
7. ¥%4+79 _ 8.9-3-23

9, 2+(10-3¢2 10. 6 ~3%-4

Evaluate each expression for the given values of the variables.

1

M. m—-6m=4 12. 43¢ =2
13. 2B +3k=—-5 _ __ - 14, 242+ 6,d =3
15. —2n—-4;n=4 16. 3abta=—4,b =2
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Chapter 1 Answers (contmued)
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Reteaching 1-1

1. 36 2. 6 3. 8 4, 52 5 12
6. 36 7. 23 8. 18 9. 6 10. 10
11, 16 12. 5 3. 10 14, 23 15. 9
16. 14 17. 15 18. 11

19, P =2(2) + 2(4); multiply 2 and 2 in. and 2 and 4 in.

Reteaching 1-2
1. 15 years old; 10 years old 2. $1045,$7.95
3. 18T-shirts;9 T-shirts 4. 12 rows of corn; 7 rows of peas
5 15 6. $100

Reteaching 1-3
1.

=7 -6-5-4-3-2-1 0 1 2 & 4 5 6 7

2. —ﬁ—éﬂ—ﬁlswﬂw_«ﬁ—_@—%—gg—zs—@-1_5—1.0:Sm 0 & 10 18
3. > 4, < 5 < 6. > 7. >
8 > 8. < 10. > 1. = 12. >
13. < 14. > 15. 3 16. 2 17. 10
18. 4 19, 4 20. 0 21. 1 22. 18
23. 50

Reteaching 1-4

1. 4 2.12. 3. -4 4 —6 5 4
6. -5 7. 4 8 12 9. -4 10. -19
1. 20 12 -3 13, 12 14. 4 15, —13
16. 0 17. -20 18. 17  19. —15 20. 8
21. 26 22.1 235 24 ~7 25 -20
26. 57 27. -39 28. $15 29. 1S inches

Reteaching 1-5 .
.- 2 - 3+  4.- 5 4

6. + 7. - 8 + 9. - 10. +
1. + 12, - 3. -36 4. 81 15. -9

16, 32 17. 350 18. 24 19. 50 © 20. ~-72
21. 28 22, —42 23, 48 24, —125 25. 6
26, 9 27. -5 28, 1 29, —6 30. 20

31. -4 32. 1 33. -7 34. —11 35. -20.

36, -25

Reteachmg 1-6

mean; 3: median: 3; mode: 4

mean: 8.1; median: 8; mode; 5 _

mean: 0.58; median: 0.5; mode; 0

mean; $3.25; median: $3.25; mode: $4

Median; there is no mode and the median is greater than
the mean.

Mode; both the median and the mean are less than the
mode.
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Course 3 Chapter 1
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Reteaching 1-7

1, 7 2. (=6 3. 104 4. 16 5. (-8
6. 27 7. 72 8. 19 9. 51 10. —30
1. 10 12. 32 13. —47 14. 3 15. —36
16. —48 '

Reteaching 1-8 ‘

1. 6 2. -20 3.9  4.30 5 70
6. —240 7. 1800 8. 90 9. —280 10. 3,600
1. 96 12, —14 13. 8(4 — 01) = 312

14, 6(20 + 1) = 126 15. 4(7 -+ 02) = 288

16. 540 ~ 2) = 190 17. 6(10 + 0.1) = 60.6

18. 7(40 +2) = 294-

Enrichment 1-1

1. 10,12,14

2. The numbers increase by 5. 5, 10, 15,20, 25, 30, 35

3. The numbers increase by 6.7, 13,19, 25, 31, 37, 43

4. 'The numbers increase by 4. 6, 10, 14,18, 22, 26,30 -

5. The numbers incréase by 2 more than the previous
increase, 1, 4,9, 16, 25, 36,49

6. The numbers increase by 2 more than the prevmus
increase. 2, 5, 10, 17,26, 37, 50

7. The numbers increase by 4 more than the previous

© increase.7,13,23,37, 55,77, 103

8 2%+1

Enrichment 1-2

Add the lengths of the four sides,

24 feet 3. fleetby (f + 2) feet

Sample answer; 4f + 4 = 24

28 feet

Noj if the north wall is 6 ft, the adjoining walls must be

8 11, so, the distance around is 28 ft; 28 # 24,

Draw a diagram; add the lengths of the sides,

Yes; since the distance around is 4w + 8, let w = 6. The
distance is 4(6) + S or 32 ft.

A NMN=

Enrichment 1-3
1. -LE -1, -1;E; —1; —-1;
~-LEE '
2. 2holes;4holes 3. Tiger shot 2 under par, or 2 below par.

=2 =2 -2 -2 =2 -1

Enrichment 1-4
1. 5,602.10 2.5
3. The Dow Jones average at the start of the week,
4. positive: 37.70, 24.90, 27,15, negative: 8,70, 11.25
5. x — 870 + 3770 — 11.25 + 2490 + 27.15 = 5,602.10
6. 5532.30 7a,137.52
7b. The Dow closed at a vahue Iess than the average;
20.32 points less,
8. Htis a negative change, because the Dow changed by
- —531 points.

Answers
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PraCtEC@ 2-1 - o Solving One-Step Equations
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Solve each equation. Check the solution.

LEo6= o 2 U= 3. 419 + w = 1972
4. b+t=1 5.9+ k=27 . 6. 14 + ¢ = 17

7. v — 259 = 26 8. r+9 =15 9. n — 19 = 26
10. 14 = =3 + 5 M. 9 =d— 43 2. g—%=3

3. £ = 2 ‘ 4. 18 = ¥4 15. 46 = 23m

16, —114 = 6k 17. 0= 18. 136 = 8y

19, 0.6f = ~1.44 20 A =83 21 28b = 1316

22. L = 107 8. 3c = —777 28, L = 4.96

Write and solve an equation for each situation.

25. Yesterday Josh sold some boxes of greeting 26, Skylar bought seven books at $12.95 each.

cards. Today he sold seven boxes. If he sold How much did Skylar spend?
25 bozxes in all, how many did he sell :
yesterday?

27. After Simon donated four books to the 28. Eugenio has five payments left to make on
school library, he had 28 books left. How his computer. If each payment is $157.90,
many books did Simon have to start with? how much does he still owe?

0890@BBGOOB@BDBQBO@@GEOBGOG900500000069OOGDEBBQG-GBBODBQEDGBOﬁﬂﬂaﬂmoﬂuﬂﬂoﬂiﬂoﬂ

Lesson 2-1 Practice _ _ Course 3 Chapter 2

© Pearson Education, Inc. Al rights reserved.

—



© Pearson Education, Inc. All rights reserved.

Name
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Practice 2-2
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Solve each equation.

1.

4.

0.

13,

16.

9.

Solve each equation to find the value of the variable. Write the

4+ 6 = 14

k -
*:9“4"6— 4

34t + 1936 = —10.22

el —
e+ 702 = 184

~9i — 17 = =26

= Z.
B =19+

2.

1.
14.

17.

Date

Il
~2

9y — 11

-5b - 6 = —11

il —
i + 79 = 84

-2.06d + 18 = —10.84

- -
g+ 27 = —86

15w - 21 = —111

3.

6.

i2.

15.

Solving Two-5tep Equations

2+ 6 =3

Y —

i + 8 = 19
4.6b + 268 = 50.72

~

_e_ -
Lz + 6 =4

149 = 8.6 + 0.9m

= _n_

Hugo received $100 for his birthday. He 20, A health club charges a $50 initial fee plus

then saved $20 per week until he had a
total of $460 to buy a printer. Use an
equation to show how many weeks it took

him to save the money.

made.

$2 for each visit. Moselle has spent a total
of $144 at the health club this year. Use an
equation to find how many visits she has

answer in the puzzle. Do not include any negative signs or any

decimals..

ACROSS

1. 6n — 12 = 24
2. & + 46 = 216
4 x — 3 = 5129
6. 2z + 2 =76

B0O0DBOLO00B0IROD0EER00Q0R00R0SNOC0B0O00DOBRD0OD0QB0OYLAO0ANDGEOREODODBGIHOROCRDD

Lesson 2-2 Practice

Course 3 Chapter 2

DOWN

i _
1.5“14——#9
2. 3x —~ 2 =169

X —
3z+ = 19

X o
4.‘3‘"1‘4—22
5. 2x — 2 = 182
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Reteaching 2-3

Simplifying Algebraic Expressions
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A term is a number, a variable, or the product of
a number and variable(s). The two terms in
—2x + 4y are —2x and 4y.

To simplify an expression, combine its like terms.
Perform as many of its operations as possible.

Lesson 2-3 Reteaching

Simplify: 3a+5b—a-+2b

Terms with exactly the same variable factor are = (3a —a) + (5b + 2b)
called like terms. In —3x + 4y + 5x, —3x and 5x =2a+ 7b
are like terms. : | Simplify: 2x — 4)
One way to combine like terms is by addition or - = 2x — 2(4)
subtraction. =2x—8

° Add to combine like terms in 4y + y.

dyty=@+1y=>5y
e Subtract to combine like terms in 2m — Sm.
2m —5Sm=(2—5m=-3m

Combine like terms.

Lex+2x= 2. dc—c= 3. ~h~h=

4, ~3y+d4y= __ 5. m—S5m= 6. 6n+n=

7. 2y —6s= ___ 8 ~t—2= 9. 3b —9 =
0. —2p—5p~= M. v+ %= 12, —4j+j=
Simplify each expression.
13. 8(c—5) = 14. 4(d + 6) =
5. on+3+n= ‘16.x+2y+x+y:
17. 3(m + 4) - Sm= 18. (v —4)5 =

19, da+2-8a+1= 20, 6s+5—(s—6) =

21, 3(u+4)— Su= 22. 2x +y — (9 —4x) =
23, “S5x+3x—y)= 24 v+ 6y -2y =
25, -2s+6—s—4= 26, ~xt+4(x—2)=
27. 3(k + j)— 4k — k = 28. da—6—-a+1=

BO00DOOCOROBRQNOOOROOOD0ODOOC0000GCCODO0000DRODOROGDOACODODOEO0OOO0ORQOGDRODRQBROBOO
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31@3:@@ @h]ng 296 Solving Inequalities by Adding and Subirariing
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You can graph inequality solutions on a number line,

Inequality ' Graph How 1o Read the Graph
x=>2 I An open dot at 2 shows that 2 is not included.
x fh%: %rer -3-2-410 1 2 3 All numbers greater than 2 are included.
x <l 2 ey | A1 OpeN dot at 2 shows that 2 is not mcluded.
* 15 Jess ~3-2-10 1 2 3 | All numbersless than 2 are included.
than 2
, X= 12 y e S A solid dot at 2 shows that 2 is inchided,
18 equac 1o or -3~2~-10 1 2 3 All numbers greater than 2 are also included.
greater than 2 K :
, x= 12 oty A solid dot at 2 shows that 2 is included.
x l?eig;‘;faéozor 101 23 45 All numbers less than 2 are also included.

To help solve an inequality, you can subtract the same number from
or add the same number to each side.

Solve: x + 5> 8. - Solve: y —4 =1
x+5>8 , y—4=1
x+5-5>8-5 «Subracts R R i
: from each side. - ' to each side.
x>3 <« Simplify. y=35 <— Simplify.
Graph the solution: Graph the soluation:
| 2-10 12 3 4 | 1012345
Graph each inequality on a number line.
1. x> -2 | 2. 4=a
 5-4-83-2-10 1 2 3 4 5 ~5-4-3-2-10 1 2 3 4 5
3. y=-1 ' 4 t=0
—I5—:4—'3—‘2i—‘1(:} 1 2 3 4 é’ ﬂ—l5-:4—3-2'—'1 01 2 3 45

Solve each inequality. Graph the solution.

5 9+a>11 : 6. 4+r<0

s L 3 ] P
T T T T T T

-5-4-3-2-1

A

-5 -4 -3 -2 i

(=]
- 1
[3%]
[+
F=Y
34
o
-t
N
43}
£
(414

7. 2>n—1 8. 1+s=5

SR R SRR W R S
T et

—-$5-4-3-2-10

!
e t3 T ty L4 T

-5 ~4 -3 -2 1

= 1
M4
w
L=
]
=]
el
o
.
&=
"
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E’?\@ﬁ@@@hﬂﬂ@ 2= Solving Inequalities by Multiplying or Dividing
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To help solve an inequality, you can divide or multiply each side by

the same number. However, if the number is a negative number, you

must also reverse the direction of the inequality.

Solve: —3y = 6. _Gréph the solution. Solve: % > 1. Graph the solution.
. Divide each side by 23. 2(2) > 1(2) < Multiply each side by 2.
33y = “*6”“ < Reverse the direction (2) o
of the inequality. a>2 <~ Simplify.
y = —2 < Simplify.
Graph: o ' : Graph: o - N
—4-3-2-10 1 2 2-1012 3 4

Solve each ineqﬁality and graph the solutions.

1. 2a>8 ' -ttt +—+—+—+—+—+—

~5-4-3-2-10 1 2 3 4 &

2. 12< -3¢ >
~5-4-3-2-10 1 2 3 4 5

3. %n>1 >
. ~5-4-3-2-10 1 2 3 4 5§

4. 12 = 6s et ; ; —>
-6-4-3~-2-10 1 2 3 4 5

5. B<1 N N
—-5-4-3-2-10 1 2 3 4 5§

6. 5q=5 . et
. -5-4-3-2—-10 1 2 3 4 5

7. —4x =38 e >

-5-4-3-2-10 1 2 3 4 §

3. What is the least whole number solution of —9x < —277

9. Donna sings on average 2% minutes per song. If a cassette holds
20 minutes of songs, what is the greatest number of songs she can
record on a cassette?

oeoosneonuneom-nnoaaeennuanuoonoaaaonencaneoaeuoowoaunouasueoooooooooeeoeneeoa
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Chapter 2 Answers (continued)
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Practice 2-7

1.

10.

11.

12,

13.
15.

m > —4

I I 1 PN+ o SRR ; ) .
LI M S BRERRS ¥ ¥ o et

~8~7-6-5-4-3-2-10
j=0

il
i

—4-3-2 -1

[~ 3
-
P i
w-_
S

Fany 1 I 5 .
s S
4

o 1
d»
Q
-
h

—8-7-6-5-4-3-2-1 0
p<2

g v T T

—4—32—101234

5b = $20;%4 14. 5p = 50,10 pages
8t = 125; at least 16 tables

Practice 2-8

1.
5.
9,
13.
17.
21,
25,
28.
29.

Q0O EO00B0B00000ERO0ORNDAOGHACOOOBDOBODOORA0COORO0GE0CR000QGG0'000CCO00ORC0D000NODABODO

x = -4 2,
x=35 6.
x <4 10
x=11 14.
x > —4018.

x <6 3.
x> —14 7.
x =60 11
x =21 15.
x << —50 19.

x>2 4 x= -5
x=-3 8. x<7
x> —6812. x = 180
x>27 16, x < 12
n=44 20. x =35
n=7 22 x= -8 23. x>51 24, x> ~10
w>17026. x < —3627. u = 48

8t = 1,250 + 830; 8t = 2,080; 1 = 260; at least 260 tickets
35k + 1825 = 30; 3.5k = 11.75; k < 3.36; at most

3 hamsters

Course 3 Chapter 2

Reteaching 2-1
1o SS6611 2 1313141427
3.y~ 18+ 18= 24+ 18y =y — 18 = 2%
2 - 182242 -2
4 561 5. -5-56565-1
6. }’88 y—338 WU =2 7 -6
85 o 3l 0.2 1. 064 125

Reteaching 2-2

1. 552210,10;25 2. 2-2-2-2;8;8;2
3. Ty~ 17 + 17 = ~38 + 17,2
Ty — 17 = ~387 - (~ 3)—17 2 —38 T35 = 38
4. 4 5. 7 6. 4 7. -1 8 10
9. —12 .
Reteaching 2-3
-1 Bx 2. 3¢ 3. -2 4y 5 —dm
6. 7n 7. —4s 8 -3 8 —6b 10. —Tp
1. 10v 12 -3 13, 8c— 40 14. 44 + 24
15. 6 + 3 16. 2x +3y 17, —2m+ 12
18. S5v —20  19. —4a+3 20, 55+ 11
2. ~2u+12 22, 6x+y~9 23 2% -3y
24. Sv 25 -3 +2 26, 3% -8
27. 3j -2  28. 3z -5
Reteaching 2-4
1. 12 210 3.3 4. % 5. 9
6. 6 7.2 8 -3 9. -1 10. 4
11.°7 12,5  13. -1 14 -5 15 4
16. 3 17. -2 18 -2 19, % 20, 14
21. 5

Reteaching 2-5

1.
3.
4.

adulf $6.50, child $4.50 2. width 91t, length 12 ft
409 mi the first day and 433 mi the second day
5 bags

Answers
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Date

Chapter 2 Answers
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Practice 2-5

Practice 2-1

30, 9 + 8b —- 2

122, 6 =x + 1;30 years old

1. —12 2. =22 3. 1553 4, %4—? 5 18 1. 920 = 0.56 + 0.32 (x — 1);28 min; Sample answer: An
6. —31 7. 2859 8. ¢ 9. 45 10. 17 equation was used because it is the best way to represent
11. 133 12, % 13, —-12 14. -324 15. 20 the situation.
16. 13 . 17. 0 A8, 17 19. -24 20, 6142 2. 13% floor; Sample answer: A diagram was used to show
21. —47 22, 963 23, —21 24, —63488 . the ffoors and the elevator going up and down.
25. n + 7 =125118boxes 26. ¢ = 7 X 12.95:$90.65 3. 26¢ + 32t = 232;4 hours; Sample answer: Either a

diagram, an equation, or both can be used.

28. b = 5% 157.90: 5
b 7.90; $789.50 4. 1t — 1)=812;28and 29

27. i — 4 = 2832 books

. 5. $210 6. 3hours
Practice 2-2 . _
) 2. 2 3. -12 4 % 5 1 -
6. 71 7. —87 8. —08 9. 52 PractugeZGz _ ., _
10. 91722811 14 12. 190 13. 1 lox=l 2. x=-3 3 x=-2 4 x=
14. 2147 15. 7 16. 780 17. -6 g x>3
18. 5293 19, 100 + 20w = 460;18 wk - ; ot ; * —
20 50 + 2v = 144; 47 visits 7 6 5§ -4 -3 -2
— ' 7. e ik = S
-9 -8 -7 -6 -5 -4 -3
8 = B
-3 2 -1 0 1 2 3 4
9 = . e
' 4 5 6 7 8 9 10 11
10, - . &H— =
0 1 2 3 4 5 6
1. m > —4
et Dt
~8 -7 —6 —5 -4 ~3 -2 —1 0
12. g =5
Practice 2-3 —2-10 1 2 3 4 5 6
1. 6a+7 2. 8k —72 3. 9 4., Tw + 21 13 - _3
5. 5p—21 6. 12+8 7. 4+3k 8 % e R
9. 6d — 48 10. 8 + 39 . dm F 2192 2f — 11 e P
12 v —814. 9 +47 15. %% — 1 16. 5¢ — 44 8-7-6-5-4-3-2-10
17. 4y + 7 18. 213m + 18 19. 64k + 252 14, y < —1
20. 3.09 + 1421421, 36b — 1008 22. 586y + 84 a3
23. 43c + 2408 24. 98x — 255  25. 52¢ + 10.9d 6-5-4-3-2-10 1 2
26. 03m — 11 27. 8+ 4k + 20 i5. k=3
28, 520 + 14425 29. T¢c - 2d + 43 ) 2 N S

31. 153g + 2g + 379
32, Letnbethenumber.(Zn + 6) + 2 =n + 3;

(n + 3) — 3 == n.You get the number you started with. 16. u‘LaIZ' e
o -2-10 1 2 3 4 5 6
Practice 2-4 17. x + 8 < 24;less than 16 in.
.1 2. 4 3. ~21 4. 24 5. -2 18. 235 + n > 462;more than 227 points
6. ~25 7.4 8 —9% 9. —-825 10, —7 4
M. 11 12,2 _ 13 ~75 14. 2 15 3 .
16. 5 17. —95 18. —6 19. 2 20. 375

21. 50x = $1,500; $30.00 per person
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Answers Course 3 Chapter 2
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Chapt@u 2 ANSW2Ts {continued)
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Reteaching 2-6 Reteaching 2-8

R e B s s e ox<10 Z x<300 3 x<5 4 x =21
~5~4-3-2-10 1 2 3 4 B8 5 x=9 6. x =288 7.oox=20

T NI 8 x < 108 9. x<125.. 10, x <28
—5-4-3-2—-140 1 2 3 4 5 i, x=12 12, x =123

3. s e
—5 —& -3 -2 -1

Enrichment 2-1

o 4
b
N
[
£
o

B, oo Qe ‘ . -
~5-4-3-2-10 1 2 3 4 5 —
-5 g>12 ) —
~5-4-3-2-10 1.2 3 4 5 [
6. r<4
) } } } } } ey
~5—-4-3~-2-10 1 2 3 4 5 o [ o
T.n<3 N Colimnl [ 2 13 [ 4 [ 3516
S WU S — S
5-4-8-2-10 1 2 3 4 5 . ConmUj1]2]3 |4
8. s=4 )
-5-4-3-2-10 1 2 3 4 5
Reteaching 2-7
1. a>4
— t ! + 4 } } } iy
' 5-4-3-2-10 1 2 3 4 5
2. r<< —4
dmcralg—1 —t—t—t } } _ + +
~5-~4-3-2~10 1 2 3.4 5
3. >3 ' ' :
D S S S B S B R T 2. 19 squares 3a.n — 1
5-4-3-2-10 1 2 3 4 5 © Bbmt(n—1=22m-1
4 s=2 : 4, 99 squares
e S e ) 5. [CoumnI | » 1|2 3456 ]10]50
~5-4-3-2-10 1 2 3 4 5 ColumnI |z + 5|6 |7 {8 [ 9 |18 |11 {1555
B m<4 - -
bt Envichment 2-2
~5-4-3-2-10 1 2 3 45 1. 18and19 2. ~Tdand-73 3. —I1,-10,~9
6. g=1 4. 29,30,31,32,33 5. 16,18,20
T e e e i i e 6. —5,-3,-11 7. 30
—5-4-3-2-10 1 2 3 4 5
fox=-20 Enrichment 2-3
e A aboAf 1 5 m oA & 1. Sample answers: 3-inch single; it’s cheaper.
5-4-3-2-101 2 3 45 2. 44nch: 9 reprints; 3-inch: 6 reprints
8. 4 3. 4-inch prints: 3 double prints and 1 single print; $38.36
9. 8songs . : 3-inch prints: 3 double prints and 1 single print; $31.36

4. 4-nch single prints, since the larger pictures show a
greater amount of detail. '

C0E000QdRRAVGRERSHORCONOLe0OORROODCRPRERAGREIVEONEROREDORCENCO00GEOASDCRROIDRIRO

Answers : ' - Course 3 Chapter 2
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Reteaching 3-1 | Graphing Points
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You can graph a pomt on a coordinate plane. Use an ordered pair
(x,y) to record the coordinates. The first number in the pair is the
x-coordinate. The second number is the y-coordinate.

To graph a_?oint', start at the origin, O. Move horizontally according
to the value of x. Move vertically according to the value of y.

Example 1: (4,-2) - Example 2: (—3,2)
Start at O, move right 4, then down 2. Start at O, move left 3, then up 2.
&Y . ’ Y

L,k
Y

]
G
[
L £
%]
o

2 2
x+axis X _ 5] X
—4-3-2-10] 1 2 3 & _ e B D] 123 4
2 <9
(4,2
4 =4

Graph each ordered pair on the coordinate plane. Label each point .
with its letter. Then connect the points in order from A to S. Connect
point S with point A to complete a picture,

A7,7) S J(—4,-6) - 4 [
B(6,3) K(~7,~7) A . NV

' . \VA
C(6,2) L(-5,1) -

O X

D(5,1) M(—6,2) _ —§—T-6-5-4-3-2-7 | { 2345678
E(1,~17) N(~6,3) .
F(4, —6) P(=1,7) 6
G(1, -2) 0(-1,3) '
H(0, —4) R(0,4)
I(-1,-2) , S(1,3)

00 0080000000000 OAQROD0OCRGURSORSAOOBVOGGENO00ROCODCOOC0O0O0OBDOEDDACOTODBOOCOOO0D0

Lesson 3-1 Reteachmg ‘ Course 3 Chapter 3
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Practice 3-1

Class

Date

Graphing Points

400G G000 D0ODEO00ODDOBDO0RB000AGOABLOBLVVO0ADABOODOOOOACOODPRO0OOORABODVBOTOGOD

Name the coordinates of each point in the graph. | i Ay
P L
1. J 2. R .
ol
a A
c F
3. K 4. M R 1IN
B ) G
.6 | -4 1 —2 21 4 6 1 X
5 1 6. P o . M
- K T [ E
D 1,
“lH
7. N 8 L . B
o
R
In which gquadrant or on which axis is each point located? 1
9. (—3,—-2) 10. (7,0) 11. (4,0) 12. (—3,-9)
13. (4,-7) 14, (7,-5) 15. (2,9) 16. (0,9)
17. (0, —6) 18. (4,2) 19. (—3,2) 20. (0,0)

21. Arnie plotted points on the graph below.
' He placed his pencil point at A. He can
move either right or down any number of
units until he reaches point B. In how
many ways can he do this?

AY

Lesson 3-1 Practice

22. Marika had to draw AABC that fit several
requirements.

a. It must fit in the box shown.

b. The side AB has coordinates A(—2, 0)
and B(2,0).

¢. Point C must be on the y-axis.
Name all the points that could be point C.

LY

COD0O0COOC000DOODOYOEOOOODOROOVEOAACHOOOGOODDIDDO0OC0QQODCOU0OVODHOCOCODOCO0OROB0D0

Course 3 Chapter 3
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Chapter 3 Answers
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Practice 3-1 Practice 3-4
1. (500 2. (-5-9) 3. (~6-3) 4. (2,-2) 1. yes 2. 20 3. no 4, no
1 6. y .

5. (0,5 6 (=27 7. (52) 8. (2,7 5. y
9, 11 40. x-axis 11. x-axis 12. IH 13. IV
4. IVv. 15, I 16. y-axis 17. y-axis 18. 1

.
7 4
19. 1I 20, x-axis, y-axis . 2% 10 ways 2
22. (0,5,(0,4,0,9,0,2,0,0,0,-0,0,-2,0,~3, = FTaT "//Z R
{0, —4), (0, -5) ‘ 2L 2
A , 4
. ol -6
5 Practice 3-2 7 ey g . _r_y -
[ 1a. yes 1b.no tc. no 1d. yes 2a.no ) N6l . 4
k 2h. yes 2¢. yes 2d. yes 3.1 4, 11 IR (I / .
| 5, -39 6. 137 - ;\ | / |
: 7. : 8. 6 A f-zfz 2\4\5 F 4 -'2?202 % 8
: o4 4
1 L \{x:{ - By . -6,
[E all _ 5 -po o 10 -
. o sl A - : 6
’ i : /4 7 IE_ ’ /
. ’ ol 10 AT 2’ e Ky e s
. ' ) gl
’ N -. : j -4 4/
; 2\ . 5 &

M. y=-2x+3 12, y=3x 13, y=-x—3

:' Al .
6 Practice 3-5 -
‘ 11. 2. 1. y=1ax+5" &
’ 1a.$77 ‘Ef : g
: 1b.$53 " 5
. P 4 5
Loy 1 =)
H yJA %X A 2:4,‘2 rad =
- g
LR 8]
13. 5maps 2, y=15+235 A =
toa. Y A L c
: 2a.$16 S AR g
Practice 3-3 ' 2b.$38.50 / o s
153 2. -2 3.0 4 5 5 -3 - L
6. 2 7. —2 ’ + 2l . g
sl 4 3
Y : E &
. by s
R 3. y =3 +3 S
2 3a. 57 in. o ‘:f RN
& SINE.S 3b.120 in. ' A
J61 a2 1 i
2 pa
. . B X
36 247 42,00 1224 i
_iz 1224 3¢ ' @ ,
fg \ _ 24 - ' . “
i
-4 %69 5. 28posts 6. Coley 7. 84 papes

eooescooucausooanaaaoooaaonoooauooooaooeoauaooqeoanaooqoooeoeeéeoeooneennooo

Answers : Course 3 Chapter 3
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Name Class Date

ReteaChﬁ ng 4.-2 Eguivalent Forms of Rational Numbers
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A fraction is in simplest form when the greatest common factor
{GCF) of the numerator and denominator is 1.

Example 1: Write %—% in simplest form.

Use prime factorization and circle the common factors.

24 =22} 2 -
36 =\2M2/-3 -
24 _ 2
So, 3 ™ 3
To write a fraction as a decimal: Use algebra to write a repeating decimal as a

. ) fraction.
(I Divide numerator by denominator.

@ Divide until the remainder is 0 or until the Example 3: Write 0.7 as a fraction.

remainder repeats. @ Let n be the decimal. n=07
(3) Use a bar to show digits repeating. Multiply each side 10n =177
Example 2: Write -g- as a decimal. b.y .10 because one
digit repeats.
0.833 :
- 6)5.000 : (3 Subtract the 10n =7.777. . .
—48 - A equations. : - n=0777...
20 : On =17
20 @ Solve for n. 9n =17
' 9n _ 7
—18 - g ™9
2 < Remainder repeats. n=1
. - _ 9
So,2 = 0.833.. ., or 0.833. " 80,07 =1,
Wiite each fraction in simplest form.
16 . 30 4
1. 7 : 2. 48 — : 3. 53
—32 12 18
4. 5 5. g 6. 57
Write each fraction or mixed number as a decimal reunded to three decimal places.
7 : 2 : 3
7. 'g 8. '—37 9. 9
3 4 : 1
) ,,..‘-m-ﬂ'“""‘""ﬂv-‘
Wdecﬁmaﬂ as a mixed number or fraction in simplest form. o
—_ st ' St e —_
13. 0.1 e 180467 15. 03
— ’ ,"a-rw*”"wﬂ:_%::-‘m““% : —
16, 0.8 _ o™ 06 e, 18036
M...\-ﬁ'*""' mmm"“"““““‘“‘%-wm‘m
e,

GeHOYUROVBODLVDOOLEOORVHEADEHVODOOGNLO0R00O20CRCCEDDADOCOBR0000CO000ODEC0H00DGRR00HGD

Course 3 Chapter 4 Lesson 4-2 Reteaching




Name

Class Date

Reteaching 4-4

To.add or subtract fractions and mixed
numbers with unlike denominators, first
rewrite the fractions using the least common
denominator (L.CD).

a3 sl
~ Subtract: 23 _ 53

il 470354 T3
=33 _o64. ;
} =35 — 15 < The LCDis 12.
i Tae = :1—21 < Subtract numerators.
’7 . .

i = —213 < Simplify.
! 3 _ sl Al

25 53 = 243

Adding and Subtracting Rational Numbers

i
(7 % GDD.GDCDB809&’0OﬁGQODGQOOQQODGGDOG—ODGGDGBGEGQBO90“359000000@8BGGBBGQDQGGQOGQOUGQOOU

You can use addition or subtraction to
solve equations with rational numbers.

Solve:h—%=%~
3,.3_1.3 3
h=4t+ 5 < TheLCDis24.
=13
24

1 _,3 541 4l _ (3
L 65— 2% 2 3+(3) 3 4} - (3
|
) 1 (1 13 4l 7 (12
d s - (-4) 5. —1g — 443 6. 75+ (-13)
5 _ (sl ol (43 10 — (31l
7. 13 - (-23) 8. 2§ - (-14;) 9. —10 - (313)

k]

2

5 :

o 1 3 a{_gd 93 _ g3

o ) '

=

g

.§ Solve each equation. Write each answer as a mixed number or as a

% fraction in simplest form. .

. 7.1 3.1 _ a2 -4l
| E 1B. y+g5=—3 _14.c+ 5 =75 15, m—35=1g
1 8 '

H 0.

®
: 6. x — 24 = -3 7. n+d=-22 18. 2 +d=-31
, 19, 7.3+ g = 1% 20, y—41=23 21, z+26=037

090000908009BB‘BGDGDCOBQGGOOBGOBGO0060059.@5BBDBEOGOO&BODBGBBOGGO.BHDUQ.G.E.BG

Course 3 Chapter 4 Lesson 4-4 Reteaching
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Reteaching 4-5

Multiplying and Dl\ndlng Rational Numbers

08908609008003BOGGIﬂ.ﬁ00900000305)698Dﬂe@uﬂBQBQG!.BGB@U@OBQOUU0.00089000000086090&

To multiply rational numbers in fraction form,

multiply numerators, then multiply denominators.

Multiply: {5 - 12

13 5 < fraction form
7.9 <= Maultiply numerators.
2+5 <= Multiply denominators.

= 13 4 L : :

To divide, multiply by the reciprocal of the
divisor.

Divide: —3% + %
32825 - % < fraction form
_—gi . % <— reciprocal of divisor
223 -5« Multiply.
11

= -4t < Simplify

Find each product. Write each amswer as a fraction or mixed number

in simplest form.

8.(.3 : 1.4 _2.({_1
1 5-(3) | 2. 33 . - (%)
5.3 3. (2 1
e s 103 52}
1,43 ol 1.51
B.s 32,1 s
10. .3 1. —32.21 2. -5 (—2})
13, 3. 42 14, -5.33 15. <23 . (~3})
i : 10 - 2533
Find each guotient.
£ 5.3 3. (1 .3
15._6“-_5 ‘ 17. 3T (—z) 18. "6:*1
) 1.4 1.(2
19. 4+ (-3) | 2. 5%+ 14 2 13+ (-3
3 . (1l | 3.1 1.3
2 3+ (-13) 3. ~13+1 a2+ 3
5. (2 . 25 3 .
5 5+ (-3) 26. —6 + 33 27. 3+ (9) .

Lesson 4-5.Reteaching
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Dractice 4-4 Adding and Subtracting Rational Nurmbers,
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Find each sum or difference as a mixed number or fraction in simplest foxm.

3,7 , 1, 52 ' 1_ 7
?.E-!-—S—__________ 2. '—1'6“+2§_ 3. 45—7§
3 _(_al S 7 —4L 2
4 33-(4%) —— s HrhH o 6. —435 *+ 315
8 1 19 23 16 7
7. 52—1' - (—37) _ 8. 121 + 2@ - 9. 3"2"5‘ - 4'2"6
L 3 4 5,1 3.1 11
105 4 100 1 a1 4 (gL
13 -192+1075 14 4f-3L 5. 12 - (—agy)
Write each answer as a fraction or mixed number in simplest form.
1y - - 3 _al
16. 14.6 + (-31) 7. -7j-4125 18. 575+ (—2})
: 3 _ 43 cal T 1 3 ,1_1

Solve each equation. Write each answer as a mixed number or as a fraction in simplest form.

3.1 _1_.4 ' 2y 1
2 x+3=-1 2. y—1=-4 u z+(5)=-1
5
| g
9 _ 1 ~11l = _ : T _ 1 @
=
‘ £
28 c-72=-37 29. d—016=23 0. {+a=-21 g
o3
3
§
31. Stanley is helping in the library by mending torn pages. He has 8
. . 1 7 3 43 . o
cut strips of tape with lengths of 55 in., 65 in., 33 in., E}nd A5z in. @

What is the total length of tape he has used? /

03000009590309.00090DOUEGUOBOOHCOBOBGB@EﬂﬂﬂﬂﬂﬂDBGGOB@BBQ@GIOUGGGGDDG&QGBGBGGO
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Name

Practice 4-5
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Multiplying and Bividing Rational Numbers
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Find each product or quetient, Write each answer as a fraction or

mixed mumber in simplest form.

Solve each equation.

1 _3
22. 308 =1p

5, = —33
25. 2n = —33

Y
28. g5y = —23

11

14.

17.

23.

26.

29,

3. .1 31
fie b B
8+ 6 3L+ (-24)
3 9. 4o - (-7)
.3 ad a3
'""3 O 4 12- 28 v 34
7.(-2 7ol
Z (7) 5. =7 +3
.23 o {al
833 . 5 (-33)
8 a2 1.2
“‘9‘_(33) 21, 23 =3
3 - 1. 42
3. _ 92, —al
1. 1 1.1

31, One pound of flour contains about four cups. 32. Kim needs 2% ft of wrapping paper to wrap '
A recipe calls for 2%; ¢ of flour. How many
full recipes can you make from a two-pound

bag of flour?

each package. She has five packages to wrap.
How many packages can she wrap with a
12-ft roll of wrapping paper?

33. Gina and Paul are making pizza for the cast and crew of the
school play. They estimate that the boys in the cast and crew will
eat % pizza cach. They estimate that the girls will each eat -% ofa
pizza. There are 7 boys and 10 girls working on the play. How
many pizzas do they need to make?

Course 3 Chapter 4
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Lesson 4-5 Practice’
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Chapter 4 Answers (continued)
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Course 3 Chapter 4

Practice 4-9 A
1. 8em 2. 170in. 3. 15m 4. 144ft 5 25m
6. 464mi 7. no 8. yes 8. no  10. yes
11. no 12. yes 13. yes 14 no 15. no
16. yes 17. VI3 =36 18. V2 =~1419. 5
Reteaching 4-1
1. 6237237 2. 52132213
3. 1%13-7 4 6233323
5 2,5,3%3%2-3.5 6. 2472 - 47
7.2 81 9.6 10.6 11. 9% 12.5
Reteaching 4-2
1 -3 2 =4 3
1. 3 2. 3 3. % 4 % 5. =
6. £ 7. 0778 8 —328 9. 055 10. 5429
1. 1333 12, 0091 3. § 14 ;15 %
8 2 4
Reteaching 4-3
6 8 2 i 8 4
1. Z 2. F 3- il' ) 4. %’2 5. 190 6. g
7. 3 8. 3 9. 3 10. g 11. 10 12. %
13, > 14. = 15 < 16. < 17. < 18 >
19. = 20. > 21. > 22. < 23 > 24 >
Reteaching 4-4 ,
7 L all, 1 - sl 7
1. 3§ 2 3 le3 31z 4. %4 5. 55245. T
1 =11 _42lL 1 4
1 1 C A2 =3
12. -85 13. ~1§ 14. 135 15 43 16
17. —3% 18, -3f; 19. -55 20. 685 . 21. —2.23
Reteaching 4-5
=2 =2 1 S =l 3
1. 352. 3 3. o) 4. i1 5. 215. 641
7. —9%—18. 63 19. 1(; 10. ﬁ7 1 ;8512. 11%
13 2t _116215. 8§116. ;Tg 17. 3 218. “18
19. 5—6 20. 351921. —ngz. 5 23. —6%£24. B3
25, 4 26. _1E27' T
Reteaching 4-6
1. A=1156i2 2. A=138m? A= 318 m”
4.r=~f— 5.€=% 6. b=y—nm
- L - A v
7.t = 8. h=1% 9. h=gs
10. 10h 11. 35 mikh 12, 3h

Reteaching 4-7

1. $85 2. §1625 3. §308 4. $35
5. 20 years old 6. $36
Reteaching 4-8

1. 4 2.9 3. ~35 46 5
6. =6 7. 10 B.~4 9 =2 10
1. ~8 12. 12 13. =5 14. 8 15,
16. =9 17. 15 18. =7 19. 13  20.
29 ~8 22, 20 23, =11 24 =9

25. 85,26, V98, V40, V18,5, V68, V29, V37,V75,V54,

V103,v61,v119,V84
Reteaching 4-9 A
1. 10ft 2. 8m 3. 9in. 4. 2km 5.
6. 30m 7. vyes 8. no 9. no 10.
- 11. yes 12, no
Enrichment 4-1
1. 1,2, 3;6; perfect 2. 1,3,5;9; deficient -
3. 1,2,4,8;15; deficient 4. 1;1; deficient
5. 1,2,3,6,%21;abundant 6. 1;1;deficient
7. 1,2,4,5,10;22 abundant 8. 1,3,7;11 deficient
9. 1,2,11;14; deficient :
10. Sample answer: 23 11. Sample answer: 24
12. Sample answer: 23 .
13. 12 + 12 14. 12 + 24,18 + 18
Enrichment 4-2
T [ Whote Integers | Rational
Numbers Numbers -
4 4 4 2%
16 16 16 -3
25 25 25 036
250 250 0.8
21 21 03
7] =
Z 2.’78
5 1)
_1 250
2 3
4
12
4 4 a7
2a.-%% 50 2b.-3%-3%  2¢ 503

2d.15,0.36 2e.£,08 2f. 24,27

Answers

251in.
yes
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Name Class Data
Chapter 4 Answers
DDDODDOODODODOD.OOODQQD3DOOQOQ@GDBmDD-DG@OQG900906@6000&)000,090300BOBQQOOOOG;’!ODOEBG 9’3
Practice 4-1 Practice 4-4.
1. 1,2,3,4,6912,1836 2. 1,2,3,67,142,42 .13 21 s -3¢ 4} 53
3. 1,2,5,10,25,50 4, 1,41 5 no 6. yes 6. =2 . 7. 8ll g 412 o T 4p. 822
7. yes 8. no 9. yes 10. no 11 mo ) 2%1 ’ 1921 ) 12& ) %80 ;‘%
12. yes  13. composite;2;37  14. prime 15. prime M. 15 120 55 130 835 14 5 5. 255 -
16. composite;3;17  17. prime 18. composite;7;13 16 112 17. _117 18. 3§ 19. —52 20. 1
19. prime 20. prime 21. 2-5-7 - 5 U .
22, 2223 93. 22.3.5 24 2-59 21 45 2. F 2.5 243 25
25. 2.5 26 22.%.5 27. B.3%.5 26. ~1% 27. 5 28. 35 29. 246 30, 23
28. 225 29, 1117 30.22-7-13 <.
31, 2-11-13 32 2-3-11-17 31. 204gin
33. 8 34. 2 35. 7 36, 24 '
"37. 6 38. 5 39. 30 40. 50 Practice 4-5 :
41. 4people 42. 8 =11 _1l 3 =67 —
1. 4 people tearns 1. 54 2 -1y 345 4 oqpp 532
" 618 7. 3% e -1f 9. —30% 10. 3¢
Practice 4-2 53 5 =
-5 63 —30 20 1. -4 12, =F 13. 7§ 14. 15. —63
s 1.3 2. 100 3 10 4 % T 1 8
I 5 1 6 3 5 =1 g 13 16. —41 17. —30 18 -2z 19. —19¢ 20. 33
- g 8 13 7 1 9 _ &l ar _4L
| 9. 3 10. 0333 11, 0429 12, —0.667 2.3 2 o, 2. 12 24 _23 2 _;‘2
: 13, 1857 14 3167  15. —4875 16. 3917 26. ~20 27. -1y 28 ~45 29. g 30 3
. 31. 3 recipes 32. 4rpackages 33. 7 pizzas
17. 5633  18. —4636 19..3056  20. 1389 : :
21. 2417 22, ~2718 23. 5467 24 4933 " Practice 4-6
‘ 25. 3721 26. =% 27. —4% 28. %75 1. P=2+2wAd =1- wP—3320mAM672cm
b 29, 3 30. & 31. ol 32, —L 2. P—a+b+cA—zb hP—SﬁcmAmSSSCm
‘ 99206 941 92% 2235 3. P~2a+sz_th~7zm A =29%4m?
l 33. 5333 34. 3z 35 ~lgg 36 4% 4, P—a+b+c—1—dA—2h(b1+bZ)PWQDm,
NE 37. 175 38 85 39 3% 40 THs A=dom
N ‘ 1 1 5. 8 = 400; 50 mi/h 6. 45 X 515 = d:23175 mi
4 42. 3 8. 3 7. 12t = 1&15h 8. 32F .
_ : 9. 212°F 10. —20°C 11. 25°C
g Practice 4-3
‘ .32 a2 % 3. %8 4. é 5. &+ Practice 4-7
7 4 :
6. = 7. & 8 = .2 10 2 1. $165 2. 045 AM. 3. 6
wt i omi om S 1 4 TiSaw 5 I2norish 6 60
* 9 ) © 5 "2 7 7. $100 8. 72planters
16. Jackie Joyner-Kersee, Inessa Kravets, Heike Drechsler
17. > 18 = 19. > 20 < 2. = .
2. < 23 < 24 > Practice 4-8
63 1. 9 2.87 3.1t 4 17 5. 114
25.. r £1P074 0684 26. 32,045,5,25 ' 6. 28 7. 12 8 126 9 135 10. 16
27. &5 % 1 28. 15,0743,31, ~0.65 1. 173 12, 187 13. 19 14 202 15 21
29, 095 1L 17 17 30. 0.8.2.05.3 16. 224 47. rational 18. irrational 19. rational
) 7 1’15’ 23’3% T 1’8’ 4‘ g 17 20. irrational 21. rational 22. irrational 23. rational
31. 15,2, 03,7 32. 3,3 ~{p ~1§ 24. irrational 25. irrational 26. rational 27. irrational
28. rational 29. rational 30. rational 31. rational
32, imrational 33. rational 34. rational 35. rational
36. irrational 37. rational 38. 2.2 39. 2
40, 17 41, 157 42. 46 43. 71 @
: BBGQB60000000HG.OQBBOGBGI&@O@DBGOBEGBCEG&QGIBIBGOG.IDBGGBGGGQGDGOOB.@OBGIUGBG
Answers Course 3 Chapter 4
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Find the value of 0.512 + 288 _ . . i
‘ S'E‘EP’E Rewrite the problem vertically. Carefully altgn the decumal ' } 0512,
points. Write a zero at the end of 2.88 as a p'raceholder S L +2.880 -
STEP2 Start from the_'right side. Add the digi’ts in fheA‘th-Ousand'thsi A 0512 .
' place. ' ' : ' - 4+2880"
2 thousandths + 0 thousandths =2 thousand‘chs T : o 2
STEP3 _Add the dtgtts in the hundredths place . ' o © b2
' K hundredth +8 hundredths =9 hundredths . ' ., +2.880
' T - 92
STEP/& Add the digits in the tens place. Because the sum 13 is>9, : S 0312,
' regroup the tenths.  * - - o . +2.880 o
5 tenths + 8 tenihs =1 bne‘S'tenths L A 392
. STEPS Place the decima!'poin_t"in the answer. Add the digits in the : _ 10 51"2
o ‘;‘”e“" pla‘;e 2 ' s - L © . 2880
. Aone+ ones + ones = 3 ones " '3__39-2' R f
L ? »

Quick Check
Add.

.

€ 13407 + 391

‘ Practlce on Your Own'. |
Add.

15.62 +.0.808. 42,62 + 97

avendish International (Singapore) Private Umited.

) 8.1 + 16.9

0.028 + 18.99 4.2 +2.05

104. -Math in Focus: Singapére Math
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L ‘ - Find the value of 5.702 — 4.61.
i o C L S :
s i STEP3 Rewrite the problem vertically, aligning the decimal points.. . - ' '5.702
ik L Write a zero at the end of 4.61 asa piaceholder. ' T - 4.610
IR ‘ o = 4610
{ . : :
';f:f : 1 STEP 2 Start from the right side. Subtract the cilgzts in the N - 5702
RURE © " thousandths place . R —4.610
iﬁl 1 ' "+ 2thousandths — 0 thousandths = 2 thousandths ‘ S 2
F e STEP3 Regroup 1 tenthas 10 hundredths Subtract the digits in ' s .
A _ , 5702,
11; iy o the hundredths place. ) : o :4 410
et 4 10 hundredths -1 hundredth =9 hundredths : : : o *w? : o
- $FEP4 _Subtraét the digits in the té’n_s place. S ) , o 5 ;82 .
© & tenths ~ 6 tenths = 0 tenths ' ' T
: A -4610 - -
b . _ L 092
STEPS  Place the demmai polnt in the answer. Subtrac‘t the dtglts in '_ - 5 ‘;}32 _
- the ones place - : A o : o T —4600 %,
: 5ones — 4ones = 1ones | - . . B 10 02 ,
. vy
% Quick Check . . o |
Subtract. - o B ; | \

305—~24

Practice on Y@ur Own
Subtract.

3.16 - 0.28

1.6 —0.99

67.48 — 66.86

15.78 — 3.3

11 — 643 -

L .

106 Math in Fb;:u.s:‘Singapqre Math




STEP1

STEP 3
STEP 4

STEP5

STEP 2

Find the value of 9.27 - 6. - ‘

Rewrite the problem vertically. Do-not align digits by place value. .

Mu‘ltiply the nuribers as yéu would multiply whole numbers. :
Multiply 6 times the hundredths digit, 7. Regroup 40 hundredths as 4 tenths.

7-6=42 4 tenths and 2 hulndredths,

Multiply, 6 times the tenths .divgit', 2. Add the régrouioed 4 tenths. Régfoup'
10 tenths as 1 one. : :

2:6=12,12+4=16  1one and 6 tenths
A Multi.ply 6 times the ones diéit,“?. Add the regrouped 1 one.
9.6 =54;54+1="55 | |

Count the total number of digité to the right of the decimal point in the

wwo factors. 2 + 0 = 2, so the product must have 2 digits to-the right. of the

decimal point.-

3
O~

0
N
<3

/ Quick Check

‘Multiply.

5.0.9 0.865-3

Practice on Your Own B
Multiply. -

) 7-2.08 .

y 1.035-4 -

108  Math in Focus: Singapore Méth
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)

Find the value of 7.68 + 8.

STEP"IE | Réwrite_ th.e,‘problem for long division. ‘- : - ' 3V768
STEP2 Place a decimal point in ‘the qgotier{t directly above the decimal ' .o
-~ paint in the dividend. -~ ' - ' s 8 ) 7.68
STEP 3 Divide the numbers.as 'you<wou|d divide whole numbers, looking - 0.
at each digit from left to nght You cannot divide 7 ones by 8. 8]7.68
Write a zero in the quot:ent above the 7. . : -
STEP4  Move to the next place to fhe right and divide. . . L ' 09 o
' 78 tenths + 8 =.9 tenths R 4 tenths . B 77;8
4
© STEP5 Brmg down the 8 hundredths and continue dmdmg . S 096 -
48 hundredt‘ns +8=6 hundredths ' 8 7;21 o
S0, 7.68+8=096 . ... R o E C T ag
- - o ‘ o ' ‘ ~ 48 -
L %

7Quick Check
Divide. = -

@,‘!1.2-:—7, | \ 93,12?;._4

Practice oh Your Own
Divide.

‘0.508~:-4 

432+ 6

) 7.47 = 3

b 225+ 9

. 410 . Math in Focus: Singapore Math



Gugick Cheal .
4. 12/ =2 2. \-8l=6 -8 |-7=7
Practice on Your Own
4.1 =1 5. |-5/=5"
6. |—4 =4 7.18/=8
8 9|=9 9. 16| =6
40. |9 =9 11, 12} =12
12. |-8|=8 - 13. 1} =11
14. |-15{=15 . - 15. 10| =0
Quick Check . - o
1. 9in. 2. 30 ft 3.25m. .
Pruétiée on Your Own ‘
1. 16em 222

" Quick Check

2. 30 square yards or 3

Practice on Your Own'
‘&, 66 square meters or

1. 36 square f=eet or 36
2. 100 square miles.or
3. 144 square centimet

_ Practice on Your Own_

5. 90.25 sguare inches

© Quick Check

" QuickCheck + -

£ 3.31mm

i

1. 10 square inches or10in? -

0'yd*

3. 90 square millimeters or 90 mm?

66 m”

5.-77 square ft or 77 ft*
6. 164.7 square yards or 164.7 yd?

ft? \
100 mi®
ers or 144 cm?

4. 625 square centimeters or 62_5‘cm2' -

or 90.25 in?

6. 441 square millimeters or 441 mim?
- 7. 213.16 square feet or 213.16 ft?

1. trapezoid; QT and'_ﬁg L
2. thombus; BE and CD, BC and ED
3. parallelogram; WZ and XY, WX and 2—7_

132 . Math in Focus: Singapore Math

. 1. 3.6

Practice on Your Own

4. thorabus; GJ and Hl, GH and i

8, trapezoid; W and TU

6. paralieldgram; BG and EE, DE and GF

Quick Cheekk - - .
1. 20.93 2. 47.317
Practice on Your me
4. 16.428 - 5. 15.6
7. 19.018 . 8. 625
Quick Check
4. 281 . 2.8.2
Practice on Your Own -
4. 0.61. 5. 14.03
7. 457 8. 0.62
Quiclg_Ched_(
1.4.5 2. 38.07
Practicé on Your Owni
4. 14.56 5. 21.50
8. 3246

7. 0.084

| Quick Check
1. 1.6 . 2. 2.03
Practice oanurﬁw.m_ o
4,354 5. 072
7. 2.5 8. 2.49
Qusick Check
1. 31 2.4
Practice on Your Own
4.7 5.730
-7. 31 8. 18
. Quick Check

| 2.254

o ov

. 2.595 3

5045 .
. 52.32
Co5
. 22.35

. 2.88 |

12.48

. 414
..27.93

. 017

.:0.127
. 0.088.

.22

. 66

. 189 .




of decimal places.

426 ¢ 1 decimal place
x 23 « +1 decimal place
1278
48520
L 9798 -« 2 decimal places

, point s0 that the product has the same n

First multiply. Then count the number of decimmal
places in the original numbers. Place the decimal

ymber .

Find 5.15+3.7.
First multiply. Then place'the decimal point.

515 ¢ 2 decimal places
« 37« + 1 decimal place
3605 '

+ 15450

19.055 < 3 decimal places

I

e Quick Check

@ 64113

Practice on Your Own
Multiply. Express your an

gd 123321

e

RLTIN 46  Math in Focus®: Singapore Math

swer in its simplest formi.

. G 35.8.02

Multiply. Express your answer in its simplest form. |

€@ s3: 100

(3] 4.52-2.9

e ——




Data

Marnzs

Rewrite division as a
fraction.

Make the denominator
a whole number by

. multiplying it by a power

. “of 10. Multiply the

145

25 .
L= 5.8_

numerator too.
Snmpquy the fraction.

Divide as you would with-
‘whole numbers.

R

Find 31.71 + 3.02.

3171

3 02=
3.02

3171+

_3171
3.02

_ 3171
302
=58

48

Quick Check

@ s1.14-217

100
100

Rewrite division as a

" fraction.

Make the denominator
a whole number by
multiplying itby a
power of 10. Multiply
the numerator too.

- Simplify the fraction.

Di;iide as you would
with whole numbers.

vy

Divide. Express you‘r answer in its smplest form.

@ ses5+81 "

Practice on Your Own
Divide. Express your answer in i

91_38.54& 82 - o

231+ 0.15°

its simpleét form.

3.6 +0.75

) 22.54 + 2.45

gy 0.205 + 4.1

12.98 + 4.4

A +_2.8

46,92 + 5.1

Rdath in Focus®: Sing‘eappre Math

e 9:225 + 0.75

7.98 + 0.6

34.83 - 8.6




i

1. 12 2, 4

ek Chat

Practice on Your Own

4. 55 ‘5. 8
7. 62 8. 7
8. 1 I T
13. 57 . 14, 13

Ruick Check
A A e
2 ' 12 -
43 44
V33 5, X
4 7
Praclice on Your Owen
7. 1L 8. 42
3 = %5
10. 22 1. 1.2
- - 4 - 11
13. 2% 14, 3L
5 5
16. 16 17. &
7 . 9
19. 72 20. &
12 7
22, 38 23. &
9 8
Guick Checl
1. 72 2. 41
20 9
Practice on Your Owmn
‘ 13 43
AL 5. 833
4 %28 , 72
7. 722 g 1ML
- 3%
Quick Checlk
1.3 2. 10
5 21
Pmc&ice_'on Your O\r{m
1 1
1 5 L
43 > 59
7.3 . 8. 2
5

G 10

124  Math in Focus®: Singapore Math

12.
15.

12.

- 15;

18¢

21,

24,

|--= WiN
o~

. 27

69
111

.-gl’_\‘

27

10, 2L 1, 1 12, 2
55 7 16
Guoiek Cheele
3 ’ 1 Tad
T — : 2. — 3. 2=
i 4 2 ® .27
Pructice on Your Own
4. 13 5, 6.2
s 9 6 -
1 9 3
- 8. — A
7. 15 5 9. 1
110,11 g1 2L qz.1L
15 10 18
Quick Check ’ -
1. 72.32 2.8383 3. 13.108
Practice en Your Own
4, 75.893 5. 28.07 . 6. 4158
7. 7.2 8. 76.328 9. 3042
10. 43.56 11. 83.072 12. 190.4
13. 2.618 14, 1.892 15. 89.25
Quick Checl .
.45 - 242 3,123
Practice on Your Own _
4. 15.4 5. 47 . 6.546
| 7. 4.8 8. 9.2 . 9. 13.3
10.-0.05 1. 2.95 42.°4.05
13. 3.25 14. ?.2 15. 237
Quick Checl
1. 12 2. 36%
3. (a) 43 '
{b} 60%
Practice on Your Own o
4, 80 "5, 27.5%
6. 549 7. 5% °
8. (a) 30 pounds .
(b) 750%



1
Name - “Class __ Date

Re%eﬁachﬁﬁg 5-1 Ratios and Rates
QDBOBGOGOOOBGDBOB@BOOBOBGQOQOG@D&GDBGE@BOBQGBDBBGBGQOQBGGDBGBWG@QOG!DGBDGOGB&UOOQB
A ratio is a comparison between two quantities. | A rate compares two different types of quantities.
Suppose that an apple pie is cut into 12 pieces. 8 | To find a unit rate, divide both the numerator and
are to be served hot and 4 are to be served cold. | the denominator by the denominator.

Two possible ratios are:

Example 2: Find the unit rate for 150 miles in
ot _ 8 (part) hot _ 8 _{par))

cold ~ 4 (part) total ~ 12 (whole) 6 hours.

Example 1: 'Write the ratios in simplest form. (D Compare. ﬁ”éfﬁz = 1—%‘—

8_8+4.2 8 _8+4 2 coaal 150 + 6

A=4x4°1 12712+473 | @ Divide. = 130 =
@ Simplify. e

The unit rate is 25 miles per hour, or 25 mi/h.

Write each ratio in simplest form.

1. 8in.to10in. o2 o 3. 15m:18m
a. %—2—%‘—3— . 5. 30ft: 10t - | 5.

7. %—%% ' 8. 12cmto9cm 9. 6m:16m

10. 18km to 10km 19, Bem : 12. 30n.:35 in.

Use a célfcuﬂaton', paper and pencii, or mental math to find each wunit rate.

13. $3.75 for 3 pounds of bifd seed 14. 270 miles for 12 gallons of gas
15 45 miﬁutes for 15 soﬁgs' 16. $10.50 forSLpairs of socks
| 17. 72 piants in 9 planters 18. 192 jars in 8 cases

19. 3 pounds of cheese for 4 pizzas 20. 270 miles in 6 hours

BUDBGBOQQGBOODBOGG.NO9000OBOGODB@'DGGOOGGBB@DDGBOQQSQBQBGUGOOODBGOBBB@@BQQGQDGG
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Name . Class - ' Date

RlEteaChi ng 5»4 | B V Solving Proportions :

.Be.l.Oﬂﬂﬂﬂ.D...U..DOI.CDODBGBI.OU.EGOﬂﬂ.nll.ﬂoelﬂﬂDE‘BBEDUSO‘OQBOIOBBOODOEODOGUGOOB

A proportion states that two ratios are equal. To solve a proportion
that contains a variable, find a value of the variable that makes the
statement true. Use cross products.

Example 1: Solve the pmportion% = 75

(@ Write the proportion. % = 2%
@ Usecioss products. . 3:20=4-n
@ Solve. ?g : iﬂ

When you write a proportion, remember that matching terms in the
ratios should represent the same thing.

Example 2 Minh makes bouquets having 4 roses out of 7 flowers.
How many roses are there out of 14 flowers?

. ' . roses
() Write the proportion. %— = ﬁ(}(—ﬁé—%—)
(@ Use cross products. 4-14="Tn
56="7Tn " i
3 Solve. 8= n.
There are 8 roses out of 14 flowers.
Solve each proportion.
S=n s 7 15_5
. 1. 5% 2. 5=73 .57y
g :
% 30 = 25 = 15y =
= S_w ' b _ 6 S _3
= 4 7=91 5 10 =15 6. 777
5 105 = 15b = g
a .
& . '
% Write a proportion for each situation. Then solve.
%
© 7. Eight out of 10 fish are 8. There is 1 robin for every 9. Two flowers cost $.66.
trout. How many trout 5 birds. How many robing How much does 1 flower
are there out of 40 fish? are there for 15 birds? : cost? '

BDGGDGDBU...O‘.ﬂOBGODﬂGBHOBOOOOBGBDOEGBOOQBBllﬂBDGG‘QOOOBE'.UOU.OBBDGDDOGOG@DB
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Name Class ; Date

Chapter 5 Answers (continued)

BIGUU.QB.BGD.EBGBUG@QIﬂﬂa.BDOUDU0.00D.G090DGB900.ﬂ.'ﬂﬂBDG.OGOOBDQQDDBQDOGOQGEQQB

Reteaching 5- ‘ 4. enlargement
(_; ; D , ’

1. 4t05 2. 5 3. 5:6 4 % 5. 3:1 ! v
A
6.2 7.3 8 4103 9.3:8 10. 9to5 Imar Y
. . >
M. & 12, 6:7 13. $1250b alp “ e s
14. 225mi/gal  15. 3minsong 16, $3.50/pair ' HPH ’
17. 8 plants/planter 18, 24 jatsfcase - ' u i !
19. 075 bbipizza 20. 45mi/h .. .
e Reteaching 5- ,
. ) 8 15
eteaching 5- . 1 E=Myn 2 2-Ziesr 3. f=123ih
- 1. ounce 2. quart 3. inch - 4, kilometer z 7 10}
5. gram 6. liter = 7. 4 8. 84 4. 2=28ft 5 £=-7%31
9. 6000 10. 60 ~ 11. 3 12. 6 303
' Z_24.2_ 18
6. 2=22-LEufibylon
Reteaching 5-3 Reteaching 5-8

1. 640 oz bleach and 256 oz water
2. 91b of cement and 18 Ib of sand
3. 3 qtof concentrate and 9 gt of water.

m . Reteaching 5-9
Reteaching 5-4 1. % 2. 3. 3. 4,

LaY
1. 310 2. 2814 3 :
K ’ 2 n. 5. 05299 6. 0.5592
5. 604 & 364 7. qp = gpd2tout 7. 09511 8 09063 9. 658
9

{ ' 8. % = J&;3 robins.

1. h=10ft 2. A =121t 3. 12ft
4, 551t 5. 951t 6. 181t

(@]
Ll

Enrichment 5-1
_ Tale i 1. 1,2,4,8,16,32,64 2. Ztol
1. no "2. yes AABC ~ AXYZ 3. 1,3,9,27,81,243,729 4. 3tol
3. no 4 o=~ 5 n=29 6. n 5a.3 5b.18 5¢. 108 5d. 643
: XiBD 5e.3,888 5f. 23328
. : , 6. Sample answer: The base numbers are 2 and 3. The
: ReteaChmg 5-6 * exponent for 2 is one less than the exponent for 3,
1. enlargement 7. b:a;18:3,0r6:1;c:b:108:18,0r6:1;
! , dic:648:108,0r6: 1 e: d:3,888:648,0r 6:1;
L 1AL o f:e:23,328:3,888,0r6:1
BT : 8. Sample answer: The ratio is 6 : 1 for each pair, Six is the
Aoy 21 aid2pd product of the base numbers 2 and 3.
’ " , 9, Sample answer: 15 : 1; 15 is the product of the base
# . -numbers 3 and 5, The prediction is valid.

i
L

B

=y
k:

Enrichment 5-2
P t 1. Theze are 3.45 miles in one league.
. 20,000 leagues

3.45 mi ;
. 20,000 leagues X %21 ~ 69,000 miles

. The answer will be greater than 20,000 because there are
3.45 miles per one league, so you multiply 20,000 by 3.45.
69,600 miles 6. 5280 feet

69,000 miles > 25002 ~ 364,320,000 fect
" 364,320,000 feet '
Three Hundred Sixty-Four Million, Three Hundred
Twenty Thousand Feet Under the Sea.
A mn 10. 20,000 X 4 = 80,000; 80,000 X 5,000 = 400,000,000
11. 30,193 leagues

© Pearson Education, Inc. All rights reserved.
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PraCtiCe 5==4 : Solving Proportions -
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Solve each proportion.

3.m 9 .27 18 __J b 7
LT 2 7= 3. % =1 4% 13% 56
12 _3 3_15 323 80 . 4°
5'q"“4 6. 5=7% 1 3715 8 0 n
Estimate the solution of each proportion.
m _ 16 7.5 30 _ &k 28 _ 13
%25 g —10 3=y — 1 59511 5 =27
Jo. 2.89 S b 9.35 ¢ .. 28
Bp=fpm—Wyg=g—— B 1= —n-— 16 7=5
Solve each proportion.
4_b 1 _ 88 x _ 28 ' 099 _ 9
755 1B 5 =% 19. 137 56 20. 5 711
425 x 15 _ 75 16 _ 56 A
2. 955 =3 2. 55 =75 23. 5 = 333 X 5 =12
s 8 ¢ v 15 60 _ 12 , 6 _9
2. 1373 26. 35 =14 27. 5 =3 8. 16
4_ 1 18 _27 n 125 27 _ 405
29. 7 =133 30. 76 =% 3. 93 =75 3. % =313
33. Sisto8as1Sistow . 34. yistoB8as22.5istp 10 7 35. ldisto b as28isto 18
36. 10isto 7 asmisto 10.5 37. 30isto 16‘asjis to 8 38, risto 17 as 81 is to 51
“Write a proportion for each situation. Then solve. °

'39. Jaime paid $1.29 for three ponytail holders. 40. According to a label, there are 25 calories iaer

At that rate, what would eight ponytail serving of turkey lunch meat. How many
holders cost her? calories are there in 2.5 servings?
41. Arturo paid $8 in tax on a purchase of = 42. Chris drove 200 mi in 4 h. At that rate, how

$200. At that rate, what would the tax be long would it take Chris to drive 340 mi? -
on a purchase of $150? o o

020000000000 QO00OROBOGUOAEVOGINHO0BOOCOPNOBOPGO0RO0CBER0OOTBOOOODTODROBOR00RQEGD
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Chapter 5 Answers

ooeo-eocon-aoouoouuwoanooeoseeaaaoaonueennaaeouoosoaeaeDnneuaeeaoaonanaabuaeoaooa

Practice 5-1 7. x =100y = 20 8 x = 4%;_)] ~ 8
I 1-3. Sample answers: : 9. x =18y =24 10. x =25y =24
fF 1. 2 flowers : 3 leaves; 3 leaves : 2 flowers; Mo x =2y =9 12. x = Zlggy =20
iy 2 flowers : 13 petals . e gl
13[ 2. 3hearts : 4 diamonds; 4 diamonds : 7 shapes; :35’ g;i;c}?: ;n =8 ::g %;}1;;3; =4
P{'- 3 hearts : 7 shapes ]
[y’ 3. 3 pencils :2 pens; 2 pens : 3 pencils; ) :
”[ 3 pencils ; 5 writing implements Practice 5-6
i 4,314 5 4outofS 6. Zto3 7. 2 o 2. .
i 8 20to17 9. 32 10. 1to4 11 1to18 c 1 s 5
i 12. 1to15. 13. $1698/gal 14. $350h 15. 62.5mih i / c ,
i 16. 47words/min 17. $.99/carnation 18. 3 min/song Y4, f " el .
I 19. 1088 20. §114 21, Loar 22 B0 N URGNRS AR7/E SRas?
¥ . \[ D i LR 2
; 23. 160z for $3.89 24. 4 yellow marbles A , "
Practice 5-2 . L L .
1. inch 2. ounce 3. quart 4. fool 3. gijreduction 4. g;reduction 5. 2;enlargement
’ 5. mile 6. ton 7. kilogram 8. meter 6. A'(—3,-3),B'(6, ~3),C'(%,%);%
9. milliliter 10. centimeter 11. Hter -
12. pram 13. 467 14. 5760 15. 32 il
16. 18 17. 4500 18, 28 19. 360 P
20. 432 21. 320 22. 352 ydimin l ¢
23. 10.56 in.fs 24. 35072 ftfmin  25. 146.67 ftfs el ial s arag
26. 10 27. 1 :
L Practice 5-3
- 1. 32red jump ropes and 8 blue jump ropes
4 2. 19 oz of granola and 9 oz of nuts Practice 5-7 : :
h 3. 700 aduits and 350 children 1. 434 2. 6in 3. 1in.:25mi4. $31.44
o 4. 10 parts bleach and 40 parts water 5. 140z 6. 216cm 7. $6.12
5. 41 yellow marbles and 123 green marbles 8. 1in.:444.4 ft 9. 9gal
6. 15 7. 12yd
8. 32¢ stamps: 6 each and 20¢ stamps : 10 each Practice 5-8
o _ 1. 784t 2. 621t 3. ~133m 4. 6875km
Practice 5-4 : 5. 32m 6. 8ft 7. 5ft6in. 8. 33ft4in
1*, 1. 6 2,12, 3.3 4. 21 5 16 9. 754 10. ~133m o :
0 6. 10 7.3 8 1
D ememense 24 03 pogess
g 6.4 17,32 8.5 19.7 200121 1 Boi 2 Bl oz Dot 4 Lok
i 21, 17 22, 125 23. 11 24, 225 25, 2 5. .7431 6. 0.5446 7. 03090 8.. 0.9511
i,'j 26. 375 27. 25 28, 24 29. 20 30. 24 9. 09958 10. 00175  11. 06018  12. 0.9903 -
P 31. 10 32. 21 33. 24 34, 18 35. 9 A3, 08090 14, 04695  15. 09659  16. 0.9659
¥ 36. 15 37.15 38 27 39 10-Xga 17 12sinX =Feosx =3
| 40, 215 = 5= 625 calories 41 Q%é = 155 $6 18. 15;5in ¥ = %;COSX = 15_3
y a2. 20 = M08 or 6 48 min 19, 15;sin X = e X = & |
X 20. 140 ft; 387 it 21. 671t
S .

Practice 5-5

3 1. -yes; ABCD ~EFGH ~ 2." no
| 3. yes, ASTU~AVWX 4. yes; ADEF -~ ACAB
5. yes; GHIJ~KLMN . 6. no.

Answers
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A percent is a ratio that compares a number to 100.

[}

'To write a fraction as a percent, find the
equivalent fraction with denominator 100.
Write the numerator to show the percent.

3 10 -
10 10 10 100

To write a decimal as a percent, move the
decimal point two places to the right and
write the % sign.

078 = 78%
0054~ 54%
39-390%

Fractions, Decimals, and Percents

To write a percent as a fraction,
compare the number to 100,
then simph'fy

)
40% = 15 = %

To write a percent as a decimal, remove the
% sign and move the decimal point two
places to the left.

34% = 034
0.9% = 0,009
460% = 4.6

Another way to change between a fraction and a percent is to use a
decimal as an intermediate step.

Fraction — Decimal — Percent

Percent. — Decimal -» Fraction

Lesson 6-1 Reteaching

3 _ o & e — q, o — l
§g=3+8 = 0375 =. 37.5% 250% = 250 = 2100 = 25
Whrite each decimal as a percent.
1. 039 _ - 2..0.08 3. 42
4 05 5 9 6. 0.056
Write each fraction as a percent.
3 1 Tz
7.3 8. z % 10
5 1 3
10. 3 M.z 12 %
- Wrile each percent as a decimal. _
13, 45% 14. 90% 15. 0.2%
16, 150% 17. 4% 18. 32%
Write each percent as a fraction in simplest form.
19. 25% . 20. 10% 21. 68%
22, 450% 23. 12% 24, 375%

BOB..GGODBBQOBQ@GO.Q@UOBOQBBDOBDBGODEDOOQQGDBGDBUOGOOOBQBBGBGOOOBCQ_BBGBBB
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Practice 6-1
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Use mental math to write each decimal as a percent.

1.

5. 063

0.95

2. 0.06

6. 0.005

Fractions, Decimals, and Percents

Choose a calculator or a paper and pencil to write each fraction as a
percent. Round to the nearest tenth of a percent.

4 7
9.5 10 5
3 L
B3 i
1 11
(LA SN N

Use mental math to write each percent as a decimal.

21.

25.

70% 22. 10%

2.6% 26. 234%

Write each percent as a fraction in simplest form.

10%

29. 30. 47%

33. 15% 34. 2%

37. 8% 38. 42%

Selve.

41. There are twelve pairs of cranial nerves
connected to the brain. Ten of these pairs are
related to sight, smell, taste, and sound. What
percent of the pairs are related to sight, smell,
taste, and sound?

43. A quality control inspector found that 7 out

9 D0DBBOO0OOBODOOOBO0DDODO0AE0BOOROGDROBLADOB0OCC0COORNONORDOO0000DRBEORTBROQCQGOBD0

of every 200 flashlights produced were
defective. What percent of the flashlights
were not defective? '

Course 3 Chapter 6

3. 0.004 4. 0.27
714 8 257
5 1
1 % 12. 4"2"
9 7
15. 55 16. 1%
L 2
19. 75 20. 355
23. 800% ... 24. 37%
27. 9% . 28 3%
3. 5% 32 473%
35.33% 36 548%
3. 70% 40, 150%

42. 1If a person weighs 150 Ib, then calcium
makes up 3 Ib of that person’s weight. What
percent of & person’s weight does calcium
make up?

44. In 1992, 80 varieties of reptiles were on the

endangered species list. Eight of these were
found only in the United States. What
percent of the reptiles on the endangered -
species list were found only in the

United States? '

Lesson 6-1 Practice
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You can use proportions to solve percent problems.

Find the part. , Find the percent.
Example 1: Find 10% of 92. Example 2: What percent of 80 is 207
- (1 Think of the percent N @ Write a proportion., %% = 705
as a ratio. 0% = 00 @ Solve. © 80n = 2,000
@ Writé aproportion. k=25 8200
(3 Solve. 1007 = 920 : n=725
100 _ 920
© 100 100 20 is 25% of 80.
n=92
10% of 92 is 9.2,
Find the whole.
Example 3: 501is 20% of what number?
(1) Write a proportion. §nQ = 120%
(2 Solve. 20n = 5,000
20n _ 5,000
20 20
n = 250 50 is 20% of 250.
Complete the propertion. Then solve each problem.
1. 6is n% of 30, - 2. 2is25% of n. 3. 75% of 80is .
i S 2 L = N
100 no 80
n= n=_ n=
4. n% of 50 is 20. 5. 49 is n% of 140, 6. 45is 15% of n.
/S - /2 S SR
100 — 100 — "R
n=__ .on=__ n=
Use a proportion to solve each problem.
7. Find 50% of 90. 8. Find 75% of 980. 9. 601s 30% of what number?

QBDBOO.GOOUGOUCODHGDBQGOQQBGDBBBBBOQQ005900000EOUOGUBEDQGBGQQGEBBUGDGO@BGBDDGB
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Practice 6-3
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Date

Percents and Proportions

Write a proportion that wiil help you answer the problem. Then solve each problem. .

1.

3. 831is 70% of what number?

What percent is 21 of 507

2.

What is 45% of 727

4. 45is what percent of 657

Use a proportion to solvé each problem.

6. 86is 12% of

5. 78% of 58 is _ 7. 90is of 65.

8 40is17%of . 9 57is31% of 10. 280% of is 418. .
M. 33%of9%2is . 12, 56is25% of 13. 51is of 14.
14. What percent of 42 is 187 15. 581is 40% of what number?

- I

16. What is 70% of 937 17. 240 is what percent of 1507
18. What percent of 16 is 40? = 19, 651is 60% of what number?
20. What is 175% of 487 21. 210 is what percent of 70?
22, What percent of 56 is 77 23. 68is 50% of what number?
24. What is 63% of 1487 25. 215 is what percent of 4007
Solve.

26. In 1990, the population of El Paso, Texas, 27.

'.0..6.000000..0.09

was 515,342, Of this population, 69% were

of Hispanic origin?

- of Hispanic origin. How many people were

Course 3 Chapter 6
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Bangladesh covers 55,598 mi2. Of this land,
2,224 mi? are meadows and pastures, What
percent of the land is meadow and
pasture?

Lesson 6-3 Practice
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Reteaching 6-4
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You can use an equation to solve percent problems.
Find the whole.

Example 1: 25% of what number is 207
(1) Think of the percent

as a decimal. 25% = 0.25
(2) Write an equation. 025n =20
® Solve. n= 02%
=80

25% of 80 is 20.

Find the percent.
Example 3: What percent of 48 is 307

(1) Write an equation. n X 48 =30

(2) Solve. ' ' n= %%
= (.625
= 62.5%

‘Date

Parcents and Equations

P09 P BO0AVO0OEDODDPOEHIDVGOOROESOLEDOOOGOGD

Find the part.
Example 2: Find 12% of 48.

(1) Think of the percent _
12% = 0.12

as a decimal.-
(2). Write an equation. 012X 48 =n
(3) Solve. 576 =n

12% of 4815 5.76.

30 is 62.5% of 48.

Use an equation to solve each problem.

1. 30% of what number is 67

3. What percent of 80 is 207

5. Find 40% of 90.

7. What is 11% of 997

9, What is 13% of 56? 1

BDBIBODCDGOBU000600-BOOGBB.BIBBEGEIG‘BBGBQG.GBQCOB.DGDGU!OBG.QOB_OOBOGUU@B.GOB

Course 3 Chapter 6

2. 321is 25% of what number?

4. What is 10% of 357

6. What percent of 60 is 277

8. 22 is 55% of what number?

0. What percent of 96 is 847

Lesson 6-4 Reteaching
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Practice 6-4
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Use an equation to solve each problem. Round to the nearest tenth.

1. What percent of 80 is 257
- 3. “What is 140% of 857

5. What percent of 90 is 427

7. 56% of what number is 827

9. 30% of what number is 120?
11. 79 is what percent of 2507
13. What is 94% of 2607
15. What percent of 280 is 1577
17. 114% of what number is 757
19. 75% of what number is 2007
21. 80 is what percent of 4507
23. 90 is what percent of 40?7
25. 82is 90% of what number?
Solve.

.27, Ina réce'nt survey, 216 people, or 54% of
the sample, said they usually went to a
family restaurant when they went out to
eat. How many people were surveyed?

29, Juliet sold a house for $112,000. What
percent commission did she receive if
she earned $6,720?7

31. Stella makes 2% royalties on a book she
wrote. Flow much money did her book
earn in sales last year if she made $53,000
in royalties?

33. Kevin sold a house for $57,000. His fee, or

sales commission, for selling the house was
$2,679. What percent of the price of the
house was Kevin’s commission?

Lesson 6-4 Practice

2,
a.
6.
8.

10.

12,

.

16.

18,

20.

22.

24,

26,

28,

30.

32.

34,

Percents and Equations

8.6 is 5% of what number?
70 is what percent of 1207
18.4 is what percent of 107?
Find 93% of 150.

What percent of 420 is 7?
9.1 is 3% of what number?
45 is what percent of 182
20.7 is what percent of 87
Find 72% of 18495,
‘What percent of 940 is 15?7
Find 65% of 2,190.

45 is what percent of 9007

501s 120% of what number?

In a school survey, 248 students, or 32%
of the sample, said they worked part time
duoring the summer, How many students
were surveyed?

Jason earns $200 per week plus 8%
commission on his sales. How much were
his sales last week if Jason earned $3287

Linda earns $40 base pay per week, plus
10% commission on all sales, What were
her sales if she made $112 in one week?

© Pearson Education, Inc. All rights reserved.

Marik agreed to pay a realtor 6.5%
comimnission for selling his house. If the
house sold for $68,900, how much does
Marik have after paying the realtor’s
commigsgion?

DUODODGGQGO@BDGOGQQOOUGBOQBDGOBBGBQBSBGGGGBGDGGDBDGO@B.OGOGDO000080000.9@9000
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Reteachmg 6-1
39% 2. 8% 3.
5. 900% 6. 56% 7.
9. 70%  10. 625% 11
13. 045  14. 09 15,
17. 004  18. 032 19,
21. 4 204 =
Reteaching 6-2
1-12. Sample answers are given,
1.7 2,30 3. 30
6. 4 7. 68 8 8
11. 1.5 12, 200
13-18. Sample answers are given,
13. $150 14. $600 15. $5.00
18. $1.80
Reteaching 6-3
1. 6;30;20 C2.0025.100:8
4. 20,5040 5. 49,140;33
7. 45 8. 735
L Reteaching 6-4
{{ 1. 03n=6n=20 . 2
: 3. nX80=20n=25% 4.
5 040 X9 =mn =36 " 6.
7. 011 X 99 = m:n = 10.89 8.
9. 013 X 56 = nn =728 10.
Reteaching 6-5
1. 25% 2. 50% 3.
5. 121% 6. 44% 7.
L9, 344% 10. 20%  11.
13. 283% 14. 785% 15.
Reteaching 6-6
1. $24 2. $1099% 3.
5. $2039 6. $7448 7.
9. 11427
Reteaching 6-7
1. $125 to $150 2.

@ Pearsdn Educétibf;, In.c. All rights reserved.

3. $105,000 to $120,000 4,

Reteaching 6-8

1. §15 2. $30
- 4. $180 5. $162
AU 7. $899.89 8. $1458.61
T 10. §566870 11 $240

0BG‘DOQGBOOOGOUUDGQBBGBBGBBG00009000UllDDGUOEOBCGDGUGDGBIDBGBOEQQOOOOOQGCOU'BI

Course 3 Chapter 6

20% 4. 50%
5% 8. 20%
25% 12, 60%
0002 16. 15
g 20- 15
= 24. 32

4. 12 5 8,
9.3 0. 105

16. $7.50 17. $3.00

3. 75,100; 60
6. 15;100;300
9, 200

0257 = 32,n = 128
010 X35 =mn = 35
n X 60 =27%n=45%
0.55n = 22n = 40

n X9 =84n = 8.5%

30.4%
38.7%
50%

20% 4,
13.3% 8.
335% . 12
333%

$14250 4.
$53.33 8.

$400
$62.50

2,093 102,184 mil
15 to 18.75 points

3. $80
6. $313.50
9. $2,142.45

Chapter 6 Answers (continued)
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‘ Reteachmg 6-9

i 1 1 1
%2 2. ! 3. % 4 A 5. 2
6. ? 7. g 8 1 9 i0 10. 30
1.2 12 %
Enrichment 6-1
1. | Expense Fraction | Dacimal | Percent | Amount
Rent and B | 026 | 2% | 780
Utilities
Food = 1 004 | 4% ! 1200
Entertaimment| 75 | 0025 | 25% | 750
Clothing sag | 0015 | 15% | 450
Taxes o025 | 25% | 750
Automobile | 5% | 012 | 12% | 3,600
Other % | 013 |134% | 4000
2. $4,700 3. 15%% 4. 4%
5. Sample answer: Rent and Utilities (26%), Entertainment

(2.5%), Automobile (12%)

Rent and
Utilities

Entertainment

Enrichment 6-2

1.25% 2 331% 3. 125% 4 125%
5. 433% 6. 81% 7. 60% 8. 55%
9. 5% 10, 25%

Enrichment 6-3

1. 28% 2. $28000 3. $1,750 4. 5%

5. $2000 6. §750

7. Sample answer: By the percent method since it would

B.
9.

result in a higher bonus,

$35,000

Saraple answer: By the straight dollar amount, since it
recognizes everyone’s contribution equally,

Enrichment 6-4

1.
3.
5.

6.

$8.50 2, 15,85
BI X830 =2 4, §72
about $1.50; 10,5 X 0.15 = ;10 grade students would

save $1.58 during the summer.
$46.75;0.85(4 X 8.50) + 8.50(2 X 10.50) =

Answers
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Chapter 6 Answers
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Practice 6-1 Practice 6-5
1. 95% 2. 6% 3. 04% 4. 27% 5. 63% 1. 33.3% increase - 2. 44.4% decrease
6. 05% 7. 140% 8. 257% 9. 80% - 10. 70% 3. 23% decrease 4. 39.5% increase .
1. 833% 12. 450% 13. 62.5% 14. 6.7% 15. 36% 5. . 100% increase 6. 25% decrease
16. 187.5%17. 16.7% 18. 91.7% 19. 5% 20. 345% 7. 40.7% increase 8. 75% decrease
21, 07 22. 010 23. 80 24. 037 25. 0.026 9. 25% increase “10. 100% increase
26. 234 27. 009 28. 0.035 29, -11—0 30. 1457’5 11. 77% decrease 12. 71.6% decrease
31, A1 32, 473 33 3 34 2B 35 I3 13. 111.5% increase 14. 39.9% increase
To200 %S T100- <7t 20 T 25 T400 15. 72.9% decrease 16. 30.4% decrease
36. S 37. 4 38. % 30, L 40, 11 17, 338% increase 18. 76.4% decrease
41. 833% 42. 2% 43, 965% 44. 10% 19. 143.6% increase 20. 90.1% increase
- 21. 47.4% decrease 22. 53.6% increase
: 23. 173.1% increase - 24. 13.1% increase
Practice 6-2 . 25. 616% 26. 115% 27. 67% 28, $2%
1. 7 2. 9 3. 108 4. 4 5 6

29. 63% 30. 594%
6. 200 7. 200 8. 140 8. 250 10. 450

11. 595 12, 180 13. 76 14, 128 15. 110 .
. 16. 360. 17. 630 18. 324 19. 80 20. 24 . Practice 6-6

210800 22, 25 23, 300 24. 250 1. $1600 2. $1875 3. $2795 4. $42.00
25. 38 species 26. 1,840,000 people 5. $4386 6. $6821 7. $12477 8. $158.22
27. 127studenis . 28. 700students ‘ 9. $20331 10. $187.20 11. $24910 12, $3.900.00
13, §9.00  14. $1020 15. $1516  16. $17.81
P ' 17. $2598 18. $2999 19, $298  20. $35.07
Practice 6-3 - 21, §4150 22, $4817 23, $7529 24, $1700.00
1. & = 00 2. =3
© 30T To 2% C T2 005 25. $4583 26. $1759 27. $6153  28. $11.40
3. 8- .70 1186 4. 8 = 13692% 29.°$76  30. $5863
5. 4524 6. 71667 7. 13846% 8. 23529 .
9. 18387 10.. 14929 11. 4876  12. 224 Practice 6-7

13. 306429% 14. 42.86% 15. 145 16. 65.1

. 1. 32 miles 2. 180 adult tickets 3. $310
17. 160%  18. 250%  19. 10833 20. 84 v 5. 737677 5 1o dimes
21. 300% 22, 125% 23. 136 24, 9324 e 8 more. by $1.50
25. 5375% 26. 355586 peoplé 27. 4% ' » ‘ A
Practice 6-4 Practice 6-8 4
1 53 2 1m s 110 o 553 1. $1,00400 2, $1,00998 3. $287.50  4.. $972.00
. 3% . P . 370

5. $1375.00 6. $142646 7. $1,75479 8. $1,925.00

9. $2,360.00 10. $2,382.03 11, $2977.54 12. $4.764.06
13. $7,500.00 14. $7.800.00 15. $8.144.47 16. $8,864.73
17, $1,603.57 18. $503.57 19. 5% for 10 years; $18.33
20, Both earn $500. ' )

5. 467% 6. 184% 7. 1404 8. 1395
9. 400 10. 1.7% 11, 316% 2. 3033
13. 2444 4. 250% 15. 561% 16, 258.8%
17. 658 18. 13,3164 19. 2667 ~ 20. 16%
21, 178% 22, 14235 23, 225% 24, 5%

25. 911 26. 417 27. 400 people .
28. 775students 29. 6% 30. $1,600 Practice 6-9 ,
31 $2,650,000 32, $720 33. 47% .3 24 31 43 5%
34. $64,421.50 2 4 1 R
6. ; 7. ; 8. 15 9, 5 10. &
11. 5 12. g A"l3a."}:"20—0 13b.m
14. (0.53; 90 skces \ o
15a. H TN
H|HH| BT] °
T | TH | TT |
1
15b.]
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